| RecoPVAssoc2GenPVMatched_PullX
RECOF] oc2GenPVMatched Pu
ISidDev_ 1.108 |

Dev
Constant

PV

107t

Pull of x for

1.1
0.07315
-0.04412

ey

X

RET!

9767
0.08222

an -1.932e-05
Sig

Reco ull

Std Dev
Constant

0.9772
0.08218
0.0004907

.
LEL L

0.95

(8

of--
DN
)]

| RecoAllAssoc2GenMatchedMerged_PullX
TETUAT GenMatchedMergked_|
) td Dev 1.041
) : Constant 0.07788
o I e Mean 0.006169
g10* : Sigma 1.006
o 0 v
> ERec || SSoc2GenMatchedMer bd_|
fo] H Std Dev 1.041
[} . Constant 0.0779
(=2 : Mean 0.006327
= . Sigma
Q.5 H Q
£10 T N T
= H H H H
o . . .
= H H H H
x . . . .
— H H H H
o H H H H
=1n3k------ - cemeeeeena AR S aeeeann
S10 : ! .
o o . . . .
[
o +vf - ! i :
T r ] i i i :
@ L i ] d i :
i \ P e
0.95L K ) A H
-6 -4 -2 0 2 4 6
X

—— DQM_V0001_R000000001__Global _mkFitOLD__RECO

ReCOPVAssoc| —— DQM_V0001_R000000001__Global__mkFitNEW__RECO I
Std Dev 1.125 > Std Dev 0.9744 17 Std Dev -
E Constant 0.07373 e B B B Constant 0.08296 ) Constant
_ _ . . . Mean —0.004402
5 107! S10%--- [ g " Sigma 0.9572 g
= =] F . . . H . . )
> | Pu a3 r : : : C ssoc2GenMaiched Pull > bd_|
Z r : : : Std Dev 0.9743 oS
o Constant N H . Constant  0.08295 o) Constant
= 02732 o . . . ean —0.004596 o 0.01504
=] Sigma : : : Sigma 0.9574 B 0.993
2107 102E £ TR
F 5 :
L = .
L > .
L = .
o .
-3 S10-3 :
10°F U -y PR AR
107F .
] ] ] i o J..Vu- ] N L [ ]
| | | 3 =1 I | | . A |
: j : i g [ i i : || ! i
TR | I 111 1||1||1:|||||| L AL
: : : : E |k ; ||HIII|JIII|T|| ; :
A Il J 1 0.95L A A H A J
-2 0 2 4 6 =6 -4 -2 0 2 4 6
y y
[ RecoPVAssoc2GenPVMatched_PullZ [ RecoAllAssoc2GenMatched_PullZ [ RecoAllAssoc2GenMatchedMerged_PullZ
RETUT] oc2Gen! aiched Pu —RET soc2GenMatched Pullz 1 rssoc2GenMaichedMergped_|
Std Dev 1.043 Std Dev 0.9931 10’ -
E : : : Constant 0.07581 _: : : : Constant 0.07976 $
- . . Mean -0.0359 - . . . Mean -0.009754
107" : Sigma 1.028 g 107 [ g " Sigma 0.9978 g
L : ; : S F : : : ®
N . ed Pu o o . . . ed Pull: >
— . Std Dev 1.043 [ . . . Std Dev 0.993 [e]
o - Constant 0.07577 . . . Constant 0.07975 o]
= Mean -0.04087 o : : : Mean —0.009541 Vg A2
S Sigma. : : Sigma. 0.997 510
2107 1072 b e £
= : S
L : =
L : N
P 5
. -3
-3 -3 : 510
10 1073 heeefree e >
) ; o N "
10 O e R LA AARALE CALAAARD 10
o 1w o suofir | | s o o
8 = r . | : ! . =
¢ O e @
) N TV TR ]
SO
0.95 0.95L i i i ! 0.95
= -6 -4 -2 0 2 6
z z




	Contents
	Page 1


